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337|#/HA EXE  |[BACaz=7-C 51 0
0 0
141=)l P& ZHEMG6A 6i 4 AN EES 10015>&5>-C 5 1
142|3%)11 FTHRF |=HMHOGA 6: 2 01 |ER T 10015v8&5v-C 5i 2
5 143|MB mE =EHEMO6A 61 300|@AK &E 10015 v&5>v-C 51 3
144 |frA  ZE EHM6A 6i 3| 1.0245 205 |{kpE EMIE |10015v&35>-C 6 4| 1.05.90
153|R EBEE EHMA6A 6:0 0
| 0 0
CARGEESS LA 6i 0
87|+ EIME =] 6i0
90| K1l =L =] 6i0
91 |#HH =i =] 6:0 DNS
86|F% SYE =] 6 8
g | BE PES Lok |
1] 183 [Z= o <I1=(F0) 53.17
2| 425 [lRAY 1 =76A 54.80
~ 3| 324 |[BEXRCa=7-A 55.24
A 4] 63 [%®IZHJIAC 55.44
~ 5] 462 | AEAC 56.21
8 6] 410 [RA6 A 56.36
7 170 [RM7 v FIL-A 56.51
8] 34 |vomhiKSC-A 56.58
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o 5%F4LZF 4x100mR
FOEKE
No. 2| A= (BfL) No. 2 4-1 (BALL)
| fB8]E | h-b K4 FIE Fl4-| FRE B | A-F JivE FE FElH-| FE% |
645RIE Bl |72 JAC 5i 1 44N =< 5 |0phKSC-5A b 1
71|#E BAFE |AIZHJIAC 5i 2 45| uA =R VBnEKSC-5A 5i 2
1 65|fes ¥E 12 JAC 5:3 2 | 46|Bf B OBMEKSC-5A 5i 4
68|H+ HE 2124 JAC 5: 4| 59.84 47|y 2= vsmKsc-5A 51 3| 5990
70(3E B*0 A IZHJIAC 5{ 0 48|EER 3= 0B~EKSC-5A 5i 0
0 0
1 34| EE & HRJ 5i 1 263|Eih FEiE JFKAC-A 51
33 |EH ER HRJ 5:2 2641/NA TR [dLFBFKAC-A 52
3 318|KIEZ K& HRJ 5i 3 4 | 265U~ EE dFEKAC-A 5:3
316|ILT™ =W HRJ 5i4(1.0225 266 |/ R B3R EKAC-A 5i4]1.0487
0 0
0 0
230| KT #H=E RRKE—DHA 5i3 406|pEE L FEE [RADA 5t 2
227|LH &=FH RRKE—HA 5: 4 407\ XK)lI 2R KRS A 5: 3
5 28| ERII &t |RKE—DHA 5i 1 6 | 408|== HE EKARE A 5i 4
229|FN sy |[RKE—-HA 5: 2| 1.04.99 409(/kH EM EKARE A 5:111.0642
0 0
8 0 0
18914 Mz HLEES ST 52 18| &K =T FEIEFR-HA 5i1
190\ b4 fEESST 51 191LfE k& [1BEEFE-BA 52
7| 191|348 flpEEY ST 6513 8 20| A EIEFE-HA 5:3
192|@2 HK&TE flpELESY ST 5: 4| 1.07.43 21|/l B FEIEFR-HA 5:4|1.08.18
0 0
0 0
282 BR 5= 511 116|3H E#HEF |[mEs52tvs5—x bi ]
283()Il E siEgE 5(2 M7|RKa 113 W@s5AAKyA—X Bi 2
1 279|H HERE (BEEC 5:3 2 | 118|H HhiE |mEysakyirx—x 5i 3
281|&M #26< |BEE— 5{ 410371 119|@Es # mEyS ARy s—% 51 4| 1.04.43
284|KH F0H, |BEFEC 5:0 0
0 0
2 480(FIEl #+&&F |[F = 501 95 |/A T S 5i1
478\ L EE +F = 5: 4 107 (&) == [z 5:2
3 4183|8& TE= +F = 5:3 4 96| IlLE  Fik mILE 5i 3
4181|15=R =T +F = 5: 2| 1.05.01 102| K% #HF mILE 5:411.05671
479\ FE F = 5{ 0 105|ER Foh |EUA 5{ 0
0 0
165| BB #kZT RS 511 210[4EWL  #b#E BrhhxFyT5 bil
156| EH it EH#K 5: 2 205|/N\EJR B |BERFy S 52
5| 157|#\E #AE =B 5 4 6 | 208|&@E ¥y EhxFvyIFh5 5i3
158 |RIIE kZ EHK 5: 3| 1.06.21 204|@H & Ehx+y S5 5 4| 1.06.81
0 0
Fc| 0 0
26/ H V&Y [EEFRM-5C 5i 4
27| X8 &£5 EIEFH-50 5{2
7 28[lUTF 4 EIEFH-50 5{3
29|FPE R EEEPE-5C 5: 11 1.09.15
0
0
SLAH & |URL7—F 51 95T = AR 51
B|/NFH AR JALTF7—hKk bi?2 386|fFEE =M BHAR 5i2
1 T|5R%  FK JRALF7—Kk 503 2 | 380|& Epsk BHAR 53
8= = JAXL7—hk 5i4] 10073 378|RBIFT @z BHAR 5: 41101562
IHE &% YJRXL7—bF 5i0 382|H# L FifE MHAB/ER 5:0
0 0
3 140(# U&7 § X 5i 4 49/%€m Us UbM=KSC-5B 5 1
136|AT /h&E F X 52 50| &Hf |vbsrKsc-5B 5i 2
3| 139"k BME | X 51 4 S1|MH B8 0B~KSC-5B 5i 3
137(dk@ RE g X 5: 310318 52|HH# HE usmzKsc-58 5 0] 1.03.72
138|7EE =¥ F X 50 3| FE UBhEKSC-5B 5i 4
0 0
248|111 =¥ HERAC 511 267|5F EID JEXKAC-B 5i3
249/ iR ETME |ERAC 5{2 268|B5H HE EKAC-B 5i 2
5| 250[fiF mMW HERAC 5{3 6 | 269|itBA Hk EKAC-B 51
251|H L BH HERAC 5:4 (11154 270|F Kk &BHE dEFKAC-B 54| 11421
262|["RE TE HRAC 5: 0 0
F:| 0 0
22|R8 BE=x 1EIEFG-5B 5i 1
23| fEH EIEFR-5B 5: 4 DNQ
24|'5R FTy 1EIEFG-5B 5! 3 |B3ER&K
25(MAiE Bk EIEF-5B 5: 2| 1.04.65
0 [3—4va—+
0
g | = FE% 8%
1] 64 [%&IZHJAC 59.84
2| 44 |vosnKSC-5A 59.90
~ 3[ 5 [UXLT7—k .00.73
e 4] 379 [BHRE .01.52
~ 5] 314 [HRJ .02.25
8 6] 140 |12 X .03.18
7] 282 |&FFE— .03.71
8| 49 [vsmrKsc-58 03.72
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| #2 | IB [ A-b i FE Fl4-| FRE B | A-H a2 IE FElH-| FEk |
412\’ BEX KR4 A 4:3 39|78H fGAES |0ohrEKSC-4A 4i 1
413|hHE X KAR4 A 4: 2 40|28 #E%E OBMEKSC-4A 4 2
1 414|E RE KAR4 A 4:1 2 41| B OBMEKSC-4A 4 3
415|5F E2) HAR4 A 4: 4| 59.64 42|:%2= JJ'Lj( vbnEKSC-4A 41 4] 1.02.28
416|F L & KAR4 A 4:0 43|BH JFX VbMEKSC-4A 410
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1 283|895 1= HRJ-4A 4: 1 460|FH EHE WHY1=74A 41
284 |z HF KA HRJ-4A 4: 2 463|FgH BFX WHY2Z=T74A 4 2
3 280|BIL K3 HRJ-4A 4: 3 4 | 462|lLzAN FEE [KREYa2=74A 43
287|=; e HRJ-4A 4: 411.0243 459|FEH #R WHY2=74A 4 4| 1.02.71
0 461|E1E &k WHY1=74A 4
0 0
110[{FEE Z=—BF |mEsszxkvrs—x 4% 1 148(BIFF KF0 = X 4: 4
1M1|RE BX WY SRRy —=Z 4§ 2 145(@ER X £ X 4: 3
5| 112|ER RAED |m@v5akys—x 413 6 | 144/ =M RN 401
113|888 B—E |revsznvs—x 4 4| 10777 L EC N P 4211025
0 147|% #m § X 4:0
8 0 0
61|88 MF | &I<HJAC ) 230|BH Eah | BEE— 4
59 @ﬁ E-UN RIZHJAC 4: 2 229| EH 12 03l 4:2
1 B0 7ormns sone [£21240JAC 4:3 2| 227|538 k& |EEEm— 4.3
62 /J\% E 35 2124 JAC 4:111.0203 233| &% A 03l 4:411.06.20
0 231|HA Z&E s 4:0
0 0
2 166| LIy BE JACRE-4A 4i1 381|#H# = JAEAC-4A 41
164|T& # JACRE-4A 4:2 382|EH =EF JAEAC-4A 4:2
3 165|IWR  F3+ JACRE-4A 4:3 4 | 383|&EH —¥ JAEAC-4A 4:3
167 |(F0@ ZEmR JACRE-4A 4:4]107.18 384 |iEHE KA JAEAC-4A 4: 4110719
0 0
0 0
b37|MAx  FiZE BBy a7 50 41 1 255| /I Edk 10015v&5v-E 4 1
538|/hE  #EiH [BE1=7-9Y-v 412 253|3FpE Bz 10015V &5v-E 4} 2
5| 539|FN BH By 1z7- -y 413 248|200 IR 10015v&5v-E 41 3
54055/ B BiEY1z7-4)-v 41 4| 1.09.26 254|315 [EZE 10015>&5>-E 4 4| DNS
541 BRI BWE [B®Ya=7-9Y-v 4.0 0
Fc| 0 0
282|@mE  HBE HRJ-4B 411 41711% #BX xA4B 4:12
281|HB5E KER HRJ-4B 4: 2 418| K K *xAK4B 4:1
1 285|BH it HRJ-4B 4: 3 2 | 419|kEH MK *xAK4B 4:3
286|515 #tEn HRJU-4B 4:411.08.02 420(hE [EfE *xAK4B 4: 4110818
0 0
0 0
3 202|pTH TE¥E HRAC 41 249|HT  Hib 10015 &5>-D 41 1
203 | AR HEAC 4i2 250\t REfE 10015v&5>-D 41 2| DNQ
3| 204|fkt RE HEEAC 4:3 4 | 256|HEA X 10015v&5v-D 4 3 |BEDH
205|7% RAR |ERAC 4141 1.09.19 251|#A Tk 10015>v&5v-D 4% 4| 1.09.09
206 |/N\BR - HR3H ERAC 4: 0 0| 2—-3
0 0 [ 8mA—/
542|Hs AHEE [BERVaz7-R9b 410
b43 1Rk fEX B 127k 410
b441/\E R BV az7- /b 41 0
545|Hs AR BV 1z7- R/ 4: 0 DNS
546(%F 0O [BxX B 127k 410
# 0
g | K= FE% 8%
1] 412 [RAR4 A 59.64
2| 61 [#IzHJAC .02.03
~ 3] 39 [vemrKsc-4A 0228
e 4] 283 [HRJ-4A .02.43
~ 5] 460 [kE>Y a2 =74A .02.71
8 6| 232 |&E3E— .06.20
7] 166 [JACRrm-4A .07.18
8] 381 [2XEAC-4A 07.19
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| f8E | h-b i FE Fla-| Gk JE | A-p K4 FE FElH-| FEk |
23T|Bx ¥=F RRE—4A 414 176K E M7 v IL—4A 411
232|FE X RKE—4A 402 177|ARY KRB |RM7vTIL-4A 43
1| 233|@IE E%H RRE—4A 403 2 | 178|®A E SMT Y TI-4A 41 2
234|FIL &= RKE—4A 4: 1110268 175\ &b KM7yFL—4A 41 4] 1.04.36
0 0
0 0
1 442|135 H B WHY1Z=74A 4 2 368|EFA Wi EES S T4A 41
4441113 Z WHY1=74A 4: 0 39| MAXE (EEITTIA 412
3 440|FH BF WHY1=74A 4: 3 4 | 360|EEE &1 [EEV T T4A 4:3
439|MH B WA a2=74A 4 1] 1.05.20 361 |HZFE EF fEES S JT4A 41 4] 1.07.30
441\ FF WHEY2=74A 4 4 0
0 0
338|/MER =M |8Fvaz=7-4A 41 A RS UohEKSC-4A 41 1
339|EE SH=E EAXCa=7-4A 4i 3 55(lL@E — VBHEKSC-4A 4§ 2 DNQ
5 340|BE HF EAXATa1=T7-4A 42 6 56|k M3 OBHEKSC-4A 4% 3 |BEDRHK
41| aH B ERS2z7-4A 4: 4| 1.09.82 57|&HI —% vBmEKSC-4A 4 4] 1.0458
0 0 2—3
fE 0 0| 2m#A-n"
159N mIE =HMA4LA 41 452|F/K H<H | AEAC-D 41
160[/NgE K3 =HEMK4LA 4: 2 454|\UF FA FH1EAC-D 4:2
1 161|828  FAK =EHHK4A 4: 4 2 | 463|EW I FH1EAC-D 4:3
162|FHE = =HEMAK4LA 4: 3| 1.05.32 451 EKR  FOk FH1EAC-D 4:411.07.69
0 0
0 0
2 180{FA Fxi RIMNT7 v TIL-4B 4% 1 288 E© 5=l 41
179(&2)11 RMTYFL-4B 4 4 289|fBIR  HD seFFE_ 4:2
3 181|HR FIA N7y TIL-4B 4 2 4 | 292\ KA BB 03l 4:3
182|R#A M7y FIL-4B 41 3| 1.08.48 203|Fm EEE (BFFEC 4: 4110864
0 294|@Es  xzZe EEE_ 4:0
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58[EH &#F VBHKSC-4B 4] T 0|8 Fil EEPm-4A 414
59|IRE T&HF VBHEKSGC-4B 41 2 1| Fos, |BEFH-4A 4:2
5 60|IE #&E VBHEKSC-4B 4} 3 6 | 120EH =T |BEEM-4A 411
61|#AR BEE ubntKsc-4B 4i 4| 1.08.96 13|RE ¥+t BIEFE-4A 4:311.12.09
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Fc| 0 0
493|g)Il it ZEKSRC 411 /5| =% X RIZHJAC 411
490|148 HETS | RREHKSRC 4: 3 12| RAR &FE |&I2HJIAC 4:2
1 492 |&n =] X EKSRC 4: 2 2 TAKTE 2R |&(2HJIAC 4: 4
489|FH FER |KXHKSRC 4: 4110389 T3|HEE Jtth RI2HJAC 4:311.0439
491 1ILAX EiE REKSRC 4:0 0
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3 235\ EF] RRKZE—4B 4: 4 163 |#4T R EHM4B 4: 2
236|F Il #0IE RKE—4B 4:1 164|% BX EH#H4B 41
3 237\ =R = RKE—4B 4: 2 4 | 165| AR EE EH#H4B 4: 4
238|BED WS |[RKXE—4B 4:3|(1.0817 166|%H &R EHEM4B 4:311.11.79
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306/t EFEIfE [10015>&S5>-F 41 1 14|BH =B EIEMm-4B 41
303|liE #F  |10015v&FU-F 4 2 15|5/ix #BZ= |EEFE-4B 4 4| DNQ
5| 305(m# ZEZ 10015 &5>-F 4} 3 6| 16|=% Hx BEEF-4B 4: 3 |BEZH
304|800 #=FH 10015v&5v-F 4i 4(1.1782 17|%t & BIEFH-4B 4:21113.16
0 0 1-2
# 0 0 [ 3mA-n"
g | &= R4 08k |
1] 231 [RKZE—4A .02.68
2| 493 [ EKSRC .03.89
AR | 3[ 176 [#M7yTrL—4A 0436
e 4] 75 [%&I1=4JAC .04.39
~ 5[ 442 [kEY 1 =74A .05.20
8 6] 159 [=EHM4A 05.32
7| 358 [BEE Y S T4A 07.30
8| 452 |HF#EAC-D 07.69
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B A LR
EEEmIESS K ERE = aoex | K Bl FEE | K FRA £ ACE% |
1 1 171[FZE B&E = IZ(F0) 6 2.29.81 1 2| 4271 EK 5B *x K 6 2.30.47
3| 3b5|FEME  $RHER FA)—hrFxy bk 6 2.30.81 41 240\ &=X 10015 &5 6 2.35.97
5 68[ILAR f&X JRCAIE 5 6 2.40.26 6| 114|858 53l PREFRC 6 2.41.87
7] 4441ERK BT [REYA=F 6 24757 8| 2145E  B& JtiEKAC 6 2.53.12
9] 151|88R& BX EH® 6 2.54.41 10| 226|423 #EA eFFE_ 6 2.54.45
11] 488|# RS D&DFRU—FY5T 6 2.54.70 12| 137 |k X [ g X 6 2.56.83
OPN| 116[#H 5 HRBEHRC 6 24407 OPN[ 16|RE E¥k EIEF 6 2.45.88
524|=4 RK HixJC 6 DNS 236 +H == 10015 &5 6 DNS
2 1] 431[H#E X *_K 6 2.28.92 2 2] 32|KHA MmiE O KSC 6 2.34.83
3| 451 |HRE =¥ WHY 2=7 6 2.36.33 4] 234 |#{R KR 10015 &5 6 2.36.68
5| 115|&F #mwk HRBEHFRC 6 2.39.94 6| 430|BEA  Hi *x K 6 2.40.70
71 400|HE #&F JXEAC 6 2.40.99 8| 399|Xxdt #HH JOXEAC 6 2.43.62
9| 309|/8 &t RRKERU—LX 6 2.45.63 10| 505]1i# %+ X EHKSRC 6 2.50.07
11] 569|EH RE HAJAC(E) 6 2.59.82 12| 316(5%kHF B—H [BAY2=T7 6 3.09.32
13] 1650|=% & EHK 6 3.13.81 14| 192|/h4t &%t EhxFy S 6 3.18.91
482|= 1l K& FEAC 6 DNS
3 1] 425[FW #H/K *_K 6 2.21.32 3 2| 66|IkAE #Hk=E JRCHIE 5 6 2.25.78
3] 170|EMW X = IzZ(F) 6 2.27.85 4] 21| X#E & =AY ARC(E) 6 2.29.91
5| 136|H& —% g K 6 2.34.02 6| 57448 b2 BE (RB) 6 2.34.06
7| 432|EEE HE *_K 6 2.38.68 8| 575|4H FARE FHRERC 6 2.47.50
9] 487|H Lt £+ HiEAC 6 2.51.21 10| 237|%E SHBER [10015 &5~ 6 2.52.72
11] 318|#kFH =X EXCa=Z7 6 2.59.39 12| 215|30H % JtiEKAC 6 3.06.42
13| 532|1Em ki HixJC 6 3.10.79 14| 501|BFE BE |EHE— 6 3.13.60
OPN| 17IFH BZ |fEZwm 6| (24873
24 AREFES
g [ ¥=E | K 2 FE4 3 8% g [ =[] K E2 FE4 = A0
1] 425|/1lL #HK * K 6 2.21.32 1] 425|/11 #RK *x K 6 221 32
2 66|ikA  #k= JRCHIE 5 6 2.25.78 2| 66|iFA k= JRCHIE 5 6 2.25.78
3| 170/ EH K3 = Iz(F) 6 2.27.85 3] 431[H L X * K 6 2.28.92
& 41 431[HE X xR 6 2.2892] #& 4] 427|RKX B * K 6 2.30.47
B[ 5] 17172 B4%E ELIZ(F) 6 22981 & 5| 355|7E1H #RED FRY—bFRyb 6 2.30.81
6] B21|XKH & =AY ARCGER) 6 2.29.91 6] 136/ —5 [EPN 6 2.34.02
7| 427 EX wE * K 6 23047 7] 32|RHA ﬁm‘ﬁ UOomzKSC 6 2.34.83
8| 355|FEUE  FRER FA)—hk*xy bk 6 2.30.81 8] 240|f EX= 10015 &5 6 2.35.97
6 FLF 800m
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1 1] 185[HAF ZHE=x = <I=(F0) 6 2.34.82 1 2| 207|£H# EW EhxFv S 6 241.10
3| 430|111 BE& WHI a2=7 6 2.41.79 4| 435|/ht BB WHY21=7 6 2.46.75
5| 469|=)Il HF FiEAC 6 2.51.66 6] 328|HH EX& EXCa=7 6 2.53.01
7] A86|fEk #ifE FEE 6 2.55.79 8| 122|7RiE #&&E PREFRC 6 2.56.22
9] 123|EE ZEM PEREFRC 6 2.57.68 10] 356|%)Il =L EEIST 6 2.59.32
11| 370|XK¥E EBEA FA)—=krxy bk 6 2.59.66 12| 487|115 BA4&E FEBE 6 2.59.74
13| 468|#kO0 #E FiEAC 6 3.29.73 OPN[ 143|MH mE EH#* 6 3.05.92
OPN[  144[frA 2= EHHK 6 3.14.66
21 1] 429|FH E¥ KE>21=7 6 2.35.34 21 2] 460| EX HX HiEAC 6 2.39.64
3| 355|HE BTE BEEY ST 6 2.40.26 AREYEEEE = IZ(FD) 6 2.42.55
5| 199|HA =k BhxFyS 6 24379 6| 350|EEE E4R EEVST 6 24432
7| A66|HIE #kEE BEBAC 6 2.44.68 8| 124|FER PREFRC 6 2.46.20
9| 484|FmA& B FEIE 6 25377 10| 417|&F =it *x K 6 2.57.59
1] 130|#8 ek R#SC 6 3.02.50 12] 485|&)Il Fik FEBE— 6 3.03.46
13| 488|HA %= K EFKSRC 6 3.07.38 IR Ubh=KSC 6 DNS
15 16
24 AREFER
g [ /= | K 2 PB4 2 ik B | FES| K E3 FE% £ =k
1| 185[HA ZE:=E = IZ(FD) 6 23482 1 49| 5 H B3 WH 1=7 6 23534
2| 429|6H EBE# WKHY21=7 6 2.35.34 2| 460| EK bk AHEAC 6 2.39.64
3| 460 kXK FHX HiEAC 6 2.39.64 3| 355 [HE BIE EEP 6 2.40.26
it 4] 355|HFE BT BEEYZ T 6 2.40.26] #& 41 207|xH# HEWD Ehx*y S 6 241.10
g 5| 207|t3H ¥ EhxFy S 6 241.10] & 5] 430110 E® WHI 1=7 6 2.41.79
6] 430[lhO B WKHY21=7 6 241.79 6] 199|®A = Ehx*y S 6 2.43.79
7] 187[HHEH R = IZ(F) 6 24255 7| 360|FEEE FE# EEP 6 2.44.32
8] 199K =K EhxEy S 6 24379 8| 466|gIH #kdF HiEAC 6 24468
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EEENESS K £ ERE = aoex | # Bl EE 5 g2 ERA £ A0
1 1] 453[a1H BM WKHY2=7 b 23477 1 2] 3718JI _BX Ubh=KSC b 2.39. 40
3| 328|f&EH EEHt EX>a=7 b 2.40.13 4| 187/ M Eohxxvy S b 2.41.97
5| 508|hE [E R EKSRC 5 2.48.45 6| 385|H L KK JOXEAC 5 2.48.93
7] _457|%N BE WHY a2=7 b 2.50.66 8| 272|FH FE HRJ 5 2.52.98
9] 359|H Lt &KZF FAY—=krxy bk b 25493 10 6|F)Il B2 YJRXL7—hF 5 2.56.38
11] 268|luA  HRCE HRJ 5 2.56.39 12| 126|288 &3l K#SC 5 3.01.89
13| 379|EH HX BMHAE 5 3.06.84 14 421|FH EX *x K 5 3.09.87
15 80[EE #BX LU H 5 3.10.50 16 191K R— EhxFy S b 3.16.04
171 182|/\f8  FEN fLUEESST 5 3.17.80 18] 506 |#0f #* R EKSRC 5 3.36.09
A5EH  BAfE UOoMzKSC b DNS
21 1] 172|HE #®E Z o I=(F0) 5 2.31.95 21 2| 455]|=)Il KE WHY21=7 b 2.40.71
3 342|5)Il R—BB |[EEH ST 5125v|2.41.18 4] 494 FH KA D&DFRY—+457 b |289|241.18
5| 270|Bi #X HRJ 5 2.41.81 6| 442|RKF KX |k K 5 2.48.11
7] 378|%kH AR BMHAAE 5 2.49.10 8| 34|Ex EFH UM EKSC § 24961
9| 509|FF g R EKSRC 5 2.50.71 10 325|3EH R4 EAXYCa1=F7 b 2.54.95
11 394/ BRA JOXEAC 5 2.57.66 12| 507(% & R EKSRC 5 2.58.31
13 T9|EM EX ELLH 5 2.59.85 14] 380|% {B4E BHNE 5 3.03.93
15 190|418 &N EhxFy S b 3.04.58 16 117 *ﬁZK B PERHFRC 5 3.05.46
17] 246|B% & 10015 v&5 > b 3.14.11 18] 183|E.F ®IE flEES ST b 3.15.19
38|l 4% UOoMzKSC b DNS
24 AREFES
JE| &S | K B FE4 = 8% g | &E=E| K £ FE4 Ed A8k |
1 172|#B #E = IZ(F) 5 2.31.956 1] 453|g1A BE WHY 1=7 b 2.34.77
2| 453|gIH &R WHI a2=7 b 2.34.77 2 3718)ll BX Ubhn=KSC b 2.39.40
3 3718J11_BX Osn=KSC 5 2.39.40 3| 328|%& B EAXAYa1Z=F7 b 2.40.13
& 4] 328|@=H EEE BEBX a=7 b 24013 | #& 41 455[7p Il KIE WHY21=7 b 2.40.71
3 5] 455|dh]l| j(/x WEH 2=7 b 2.40.71 g b| 342(5%)ll H—B8 [EFH ST 5 |26v[2.41.18
6| 342(7)Il FE—BB |BEFVST 5[2#v[2.41.18 6] 494| FH &A DDFRU—+s5T b [=5v9[241.18
7| 494 R f&A D&DFRY—b4 57 b |26y[241.18 7| 270|EBL 8K HRJ 5 2.41.81
8] 270[F #X HRJ 5 24181 8| 187/ finc Ehx¥y S b 24197
b&LF 800m
R A LG
EENES= K £ EL T2 2 goex | 4 B EE K £ ERA 2 8% |
1 1| 422|#ak  BRE * K 5 23957 1 AREEIE=I = LIZ(FD) 5 24237
3] 335[itE A= BEBX a=7 b 24567 4] 140|118 O7qf £ KX 5 2.50.59
5] 197|E®JI NE [lEESIST b 2.50.81 6| 125K BF PFERHFRC 5 2.52.89
7] 103|AKH Zf& [FEILH 5 2.58.24 8| 406|pEEE FxE [k K 5 2.59.45
9| 456|E8E HHuHH |FIEAC 5 3.00.15 10| 502|#M\H =8 =AY ARCE) 5 3.01.83
11] 204|&5H ¥= Ehxxy S b 3.08.38 12| 300|HAK &% 10015 &5 b 3.08.44
13] 385|H+E HME [WHARE 5 3.08.72 14] 472|FEH =M D&DFRY—F55T § 3.08.80
15 96|10 ik EILH 5 3.10.77 16| bH3|&H Ti& VDo fKSC b 3.14.44
20 1] 203|@H = BhxFy T b 24379 2( 2| 455|%H 0O ¥1E BEEAC 5 2.46.96
3| b22|ER f&& JXEAC 5 2.56.10 4] 458 BN EiEAC 5 2.57.33
5| 174|lLAx EE EM7YFIL 5 2.59.21 6| 37428 T FAY—bFkvbt b 2.59.44
7] S17EEREXK HRJ 5 3.00.43 8| 133|&A F1E A#SC 5 3.01.68
9 84iBH [B= JRCHF 5 5 3.04.17 10] 192|888 EETE flEES ST b 3.05.23
11] 208|&H ¥ Ehxxy S b 3.06.66 12| 407|XK)Il 2F x_K 5 3.08.92
13] 107|&)II =Emk B 5 3.15.68 14] 473|HB B D&DFRYU—F55T b 3.15.79
151 HO3IFJII  =EmE =AY ARCER) b 3.25.27 OPN[ 1071 [{<Be 3 L 5 3.17.52
= AIRFEFES
| #F= | K B B4 - a0 | HEE| K & B4 E 8%
1] 422[#Ak  BRE *__K 5 2.39. 57 1 422 WAk BRE *__K 5 2.39.57
2| 188|#%H WAFE =m L Iz(F) 5 24237 2| 203|BEH =H Ehx¥yF b 2.43.79
3| 203[EH =# Ehxxy S b 2.43.79 3| 33b[thE RE=E BEXPa=7 b 2.45.67
it 4] 33b[(E RE=E EXYa=7 b5 24567 | #& 4] 455|% 0 ¥1E HiEAC 5 2.46.96
g 5| 455|800 ¥1E HiEAC 5 24696 | & 5[ 140|/8 U& £ £ X 5 2.50.59
6] 140(# U4&f [N 5 2.50.59 6] 197|ERJII /NE [HLLEEIST 5 2.50.81
7] 197[ER/IN /NE |[hUBEESST b 2.50.81 7| 125K B%F PHEBEHFERC 5 2.52.89
8| 125[AK &% PEHFRC 5 252389 8| b22|ElR I&& JREAC 5 2.56.10
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2EFE F F4EEHS LRESULT
6FEF 100m
¥
EIBEESE E % B4 E3 gmix | #|F|EE K FEA E3 ook |
1 1] 333[EX BL BEEIST 6 14.06 21 1] 48[@mill_ # 72 1= JAC 6 13.05
2] 176[#O A RLEES ST 6 15.09 2 1Ecx BE [VXL7—F 6 1456
3| 389|EZE EE JXEAC 6 15.46 3| 464|= AR T REREE 6 15.24
4] 149|M$ 3 =@ 6 15.84 4] 351\K_EZN (B EE) 6 1541
5] 529[8Bk [E BixJC 6 16.11 5] 530 EEE A |[BRJC 6 17.33
6| 223|F@m Ea EREY 6 16.25 6] 402|552 —W JXEAC 6 17.47
1 73— —B ELA 6 16.59 7] 184|7E@ ™ ALEESST 6 17.51
8| 244|+F& FE 10015 V&5 > 6 18.28 8] 160|Hi% E—EF |JACRE 6 17.78
3 1 24|AE R UM EKSC 6 15.10 4] 1] 156|&M  EA JAC%% 6 14.22
2] 441l EERED [ K 6 15.22 2] 312[F#F =X BERTaz= 6 14.90
3| 132[#F 'rm [N 6 15.32 3| 391[FE &M :|7\:EAC 6 15.00
4 241 EA 10015v&5 > 6 15.62 4] 447|188 Eh WHZa1=7 6 15.33
5| 485[% jcﬁ HBAC 6 15.73 5] 225|BF Ml R 6 16.04
6] 173|=H & RLEES ST 6 15.94 6] 178 EEE AT RLEEYST 6 16.08
7] 322|it  FERE EXC2=7 6 16.50 70 75|#F AR [FILE 6 16.22
8] 70|—= Xi& E LU 6 16.80 8| 336|EBE [REE BESS T 6 16.43
B 1| 428|#AF g3t &K 6 13.86 6] 1] 356|FER —JE FARY—bFRv b 6 13.94
2] 50[dk2 K& 721245 JAC 6 14.31 2| 134 HER E X 6 14.59
3| 354[ME K FAJ—FxvbE 6 15.10 3] 500[HRA EfE EEE— 6 14.64
4 RN JXL7—F 6 15.27 4] 243|ER_# 10015 &3> 6 15,55
5] 567|Ex X MEAJIACE) 6 15.40 HERAIN: SN 6 15.75
6] 466[#E4K W FRikEE 6 16.00 6] 175[mYyA EXK [ALEELESIST 6 15.95
7] 108|ikiE BBiC W5 xhy A—X 6 16.69 7] 324|@A =& EX a1=7 6 16.07
8| 216[&1ll X¥5 JLEKAC 6 17.07 8| 20|E =i V50 7=KSC 6 16.12
7] 1] 350|MH:E EHiE [ ED) 6 12.93 8 1] 131]&% Bm [ElIPN 6 14.86
2| 449|EEni BAR|KEC1—-7 6 14.58 2| 67|—F #&A JRCHE DS 6 15.25
3| 401[iE& BN JXEAC 6 15.84 3| 570|xH EBEE MHEJACE) 6 15.35
4] 239|211 = 10015 &5~ 6 15.84.1 4] 14[8K R I 6 15.68
5 440FEA %&D U5NEKSC 6 15.86 5] 319|& T~ M BEXS1=7 b6 15.82
6] 31786 B EXCa2=7 6 16.00 6] 468[ILA &EF FREE 6 17.02
7] 159 EIL EKE JACRE 6 16.79 133 BE A &K 6 DNS
18158k HEF LEES ST 6 DNS
9] 1[ 390[+EF WA JXEAC 6 14.77 10[__1] 465[t% ¥ FAkE £ 6 14.44
2| 334|BAR X EEIST 6 15.20 2| 426|&%AN WAk * K 6 14.87
3| 152|#E BE = B 6 15.21 3| 49[E MAES [&IHJAC 6 15.04
4 1778 A ALEESST 6 16.18 41 213|=H WE E3EKAC 6 15.31
5| 224|% BEE_ 6 16.32 5| 353[&h aﬂxﬁﬁ FA)—kFxv bk 6 15.52
6] 261|XH &% HRJ 6 16.46 6 2|EH JXLF7—F 6 16.49
7 T4ER AKX ELA 6 16.57 7| 535(F0H %ﬂ’r\ BixJC 6 19.28
11 1] 486[&M = HBAC 6 13.04 12 1] 314|288 K& EXC1—7 b6 13.94
2| 242\%EH [EZE 10015&5>~ 6 14.68 2| 238|#H A 100152&5> 6 14.23
3| 174| EAT #HK AILEEIST 6 14.75 3| 392t A JXEAC 6 14.28
4] 25[FMH AR [05AEKSC 6 14.89 4] 448]ILO BT WA 1=-7 6 14.38
5| 133[7N = E X 6 15.30 5| 349t ERt B R(E) 6 15.28
6] 323|FE@gk ERE EXCa=7 6 16.56 6| 156|EW¥; BXEl |JACRE 6 15.65
1 71fm = EILA 6 16.91 7] 180|%EmM &® ALEEYST 6 16.16
13| _1| 124[ K& —3F A#SC 6 14.76 14
2] 429|pfE = *_AK 6 14.81
3 4+E BYE JXLF7—F 6 15.39
4] 568[ TR thA MEAJIACE) 6 15.94
5 222|522 R EEE_ 6 16.34
6] 467[dt#8 IRz FRikEE 6 17.42
2|Hh EE 712 JAC 6 DNS
E|HEE] K % EA 3 k|
1 48| 721245 JAC 6 13.01
2] 486|=m & HiEAC 6 13.03
3| 428[mF B *_AK 6 13.71
®| 4] 3l4|=ER BER EXAC1-7 b6 13.89
B [ 5| 3562 —E FAU—FEXv k 6 13.94
6] 333[ER B BEEIST 6 14.08
7] 155|&H EX JACRE 6 14.43
8] 238[@MH F*X 10015 &5~ 6 14.71
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2EFE F F4EEHS LRESULT
6 FLZF 100m
FiE
ERREESS K £ ili=Ea = ek | 4| E = g2 PFE% £ A8k
1 1] 425[[RH FREE KHY1=7 6 14.55 2( 1] 427|887 kBB WHY21=7 6 13.60
2| 297|FEH #&F 10015 V&5V 6 14.93 2| b18|FHHA #ME HARJIAC(E) 6 14.10
3 CHESEETS ELH 6 15.32 3L 170(8)I =BHE EMTYITIL 6 14.57
4| 464 |EE  mE HiEAC 6 16.49 4] 215| =Bk SR RAFESRC 6 14.80
5] 211|Hsy BEZE Ehxty S 6 17.00 5| 38[/hh 2= Ubh=KSC 6 14.87
6| 224|#E B RAESRC 6 17.97 6] 3b2|KA EEX EEP 6 15.07
154k®E AH = H% 6 DNS 7] 131|AR F1k R#HSC 6 16.09
504[mpE ZEE BRI 6 DNS 8] 250[ull 7  [dEEKAC 6 16.24
3 1] 432|%E & WKHY2ZF7 6 14.83 4] 1] 184|@gA =¥ =DIZ(F) 6 13.86
2 80(f8a LA4Hh |HEERE 6 15.27 2 417 EFEX (UXLT7—L 6 13.94
3| 217|=YH ¥E |RAESRC 6 15.59 3| 327 =k Fh |EBRCa2=TF 6 14.43
41 173[1lLE M EMFTYIIL 6 15.79 41 14181l P& = B 6 15.80
5] 299|ER &= 10015 V&5 6 16.07 5| 446 | FF 0O F FakkEL 6 16.00
6] 261[+#H &KFEF |dEKAC 6 16.11 6| 219|&%ME =& RKZESRC 6 16.11
7] 367|HE =<5 [BE BE(E 6 16.39 7] 27418k Sy [(BEFE— 6 16.14
8 2U0EH &I JAXLT—hK 6 16.51 8| 83|FNH 3 =0 >J 6 16.22
5 1] 276[M =1t B 6 14.69 6 1] 391|&F =K JXEAC 6 14.97
2| 330|# ILE EXCa=7 6 15.78 ARRAE TR ES UOomzKSC 6 15.10
3| 221|#M%F XK= RAZFESRC 6 16.20 3| 278[& B3 BEE 6 15.78
4] 371|HZE ZH |ZAU—FrFybk 6 16.20 4| 334|KPE_1&H ERXYa1=7 6 15.92
5| 448|AH FTFx |FTAEL 6 16.33 5| 200|FH EiE Ehx*y S 6 16.74
6] 147[fxEH =R =MWl 6 17.73 6| 149|h%& 3L EH® 6 17.04
7 3EkE #HK EIEF 6 19.36 7] 88[kH ER FELLE 6 17.49
86|l& S= EE 6 DNS 22344t ZEZT  [RAFESRC 6 DNS
71 1] 1860 FiIB =m IZ(F) 6 14.01 8| 1[ 351[MHh ¥ EEP 6 13.84
2| 465|HE HFHE EBAC 6 14.22 2| 214|184 M RKESRC 6 14.64
3| 206|H® HE By S 6 14.49 3| 426 K% T WHYa2=7 6 14.65
4 36| GE=E UOonzKSC 6 1457 4] 169[&FH FELE [RM7FyvIIL 6 14.96
5| 423[H Kk *x_ K 6 15.90 5| b7/ ER MHRJACE) 6 1612
6] 296|iE B1E 10015 &5~ 6 15.98 6] 298|EA& Ry 10015 &5~ 6 15.55
71 152|130 = H% 6 16.83 7] 92|RA  E; L E 6 16.39
3 90 (K1l Z= LU H 6 16.97 226\ S HF [RAFESRC 6 DNS
9] 1] 428[K# M WHI a2=7 6 14.34 10| 1] 368|HxR =HF ) 6 13.72
2| 134|%FB H=X& HEE8 4 EAC 6 14.85 2| 183|851 %&:ZEE [0 <I=(F1) 6 14.01
3| 171|mM% &N RINTy I 6 15.08 3] 82|k FF =277 6 14.23
4] 366 = B BE(x) 6 156.11 4 IIE |k YJRXL7—hF 6 14.28
5] 216|&&x B RAZESRC 6 15.44 5] 325[/hMlU K %H |BERDa2=TF 6 14.87
6 [IEZ'NES] YJAXLT7—hK 6 15.92 6] 218|HFEB EBE |RAZESRC 6 15.40
7 I UOon=KSC 6 16.04 7] 262|8F BTy JtEKAC 6 15.88
8| 260|&L M= JbFKAC 6 16.94 8| 4451 RE F e L 6 16.79
11 11 275|=K =3 B 6 15.57 12| 1| 372|&AN &% FRU—bFRy b 6 14.86
2| 329|AH HEX EAXY1Z=7 6 15.78 2| 277|AH &Ty eFF_ 6 16.20
3| 220|&%& = RAZESRC 6 16.25 3| 333| K7 R ERXY1=F7 6 16.26
4 30[KE #< EIEF 6 16.69 4] 222|fklg BE= RARZESRC 6 16.56
5| 145\ ZEHT EHH 6 17.38 5] 32K #EBK EIEP 6 16.67
6| 447|NHE BED FARBE 6 18.29 6| 148|FEH HE =EH#* 6 16.91
7 NS FELLH 6 18.90 87| FENHE L E 6 DNS
131 1 35k =E UOoh=KSC 6 14.48 14
2| 393| EH R JOXEAC 6 15.57
3| 201 |=% = Ehx*y S 6 16.25
4] 336|RJIl B EAXY21ZF7 6 16.29
5] 29b|{kEE =REKE |10015V&S5Y 6 16.32
6 151|9JIl EE =EH#® 6 17.81
89[iH ¥ L 6 DNS
B | FE | K £ B4 - 8% |
1| 42788  kkE WKHY2=Z7 6 13.51
2| 351|MH$ ¥ BEEYZ T 6 13.74
3 AR BEEK |UXLT—K 6 14.11
R 4 TR Bk JXL7—hk 6 14.23
23 5| 428|XK#  HK WHY2=Z7 6 14.36
6] 327(= FOH |EXC2ZF 6 14.50
7| 465|hE &HE HiEAC 6 14.51
8 82|17k F GE=0>7 6 1452
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£EPRE F F4REIFEHE S £RESULT
S5F8BF 100m
FiE
EIREES= K £ ili=Ea = otk | M| E|ES K g2 PFE% £ Rl
1] 1] 158[#AK  #EK JACRmMm 5 14.54 21 1] 56|l X2 712 JAC 5 14.29
2| 313|#2F 3RER EAXY1Z7 b 14.63 2| 437|HE E xR 5 14.57
3 3b|=sk  #R U5MEKSC b 15.31 3| 266|HE ZEX HRJ 5 14.71
4] 423|&H HE * K 5 16.64 4| 478|Fxx  KiE HiEAC 5 15.22
5| 264|RE EBE HRJ 5 16.89 5| 341[H% |4 EEAi 5 15.36
6 84|80 FLLH 5 18.21 6] 377|XF X BHRE 5 16.90
7] 372|IAx HBEE $ERC 5 18.55 7] 138[dtH BJHFE E X 5 17.68
528|= B HiIRJC 5 DNS 198| By f% EEREAC 5 DNS
3 1 9|# T IR 5 15.89 4] 1] 525|XH BX HIRJC 5 15.65
2| 491 |=m K3} DDFRU—=F45T b 16.33 2] 474101 BEABE |AIEAC 5 15.84
3] 452 EBEA WKHYa2=7 b 16.45 3| 262|mEE  Si— HRJ 5 16.82
4] 247|;TtH AKX 10015 &5~ b 16.63 41 398 | KA KA JOXEAC 5|m#&[17.26
5| 143|d#k AKX [N 5 17.44 4] 361|B%H K& FAU—b*v bt b|AE|17.26
6| 274|178 —&t HRJ 5 17.556 6| 308|/NHE = RRKERJ—LX b 17.77
7] 34411LO XE EEVZT 5 17.66 70 82\Il0 BE [Eaiii =) 5 17.92
3961 EREE [ORXREAC 5 DNS DSQl  28|KA ER UM=K SC 5[e%]16.34
b 1| 435[FH & * K 5 15.03 6 1] 481k @3l HiEAC 5 14.91
2] 122]& Z—H [FLAKBEE 5 15.26 2| 388|i+ D JXEAC 5 15.34
3| 476|180 ERR EiEAC 5 16.11 3 SiE  BR JAXLF7—Fk b 15.96
4] 327[Bx MEH EXCa=7 5 17.18 4] 235[lUAR gEZAN [10015 V&5~ b 15.99
5 S54|HG B (24 JAC 5 17.86 5| 271|XE | HRJ 5 16.04
6| 375|HF B BWHARE 5 18.82 6| 440|LlE  FF *x K 5 16.32
b50E8 i+ HIRJC 5 DNS 7] 14138 [EHR [N 5 16.96
186[IIH #X Bhxfy S b DNS 8| J6[HF FE FALLH 5 17.73
70 1] 358|g@ —R FAU—rF*y bk b 14.70 8] 1] 36|FE X U5 EKSC b 15.90
2| A58|dPE  iE§ WHYa2=7 b 14.77 2] 321|#WR TRt EBAY1Z=7 b 16.33
3| 157|/N\&m #A [JACRE 5 15.80 3| 373|=H EiE BHRE 5 16.45
41 259/ IR JEREE 5 16.33 4] 109|#1lh Bib R@gY 5 Ay /X—X b 16.47
5 12|HH HE EIER 5 16.40 5| 424|783k & *x K 5 17.70
6| 277(#FH FWE HRJ 5 16.41 6] 265|%M ZEAEBS |HRJ 5 18.90
7 78|iEEH BRA ELLH 5 16.63 b33|RE TAR |[HRJC 5 DNS
8] b02|E4 4K EERE 5 18.23 162|F4 =X |JACRHE 5 DNS
a9l 1 b7|3M R (2 JAC 5 15.01 10 1] 454|@EF TS WHYa2=7 b 14.78
2| 479|FEH RRiE BEEAC 5 15.40 2| 275|HE EH HRJ 5 15.06
3| 386|MER ok JXEAC 5 15.44 3| 257k K¥E KBAEE 5 15.46
4] 438[FERM RE * K 5 15.48 4] 10|%H ¥ BIER 5 16.22
5| 343|%@E EFiH EEVZT 5 15.57 5| 492|%BIE Rtk D&DFAU— k557 5 17.28
6] 139|R% #hk [N 5 16.17 6| 348|FR &N EEVST 5 17.30
7] 2673FA R HRJ 5 16.80 DSQ[ 397|HEM E3 [OXEAC 5[e=[17.81
2007k HH #&F% IERAC 5 DNS
11 1] 263|EE X HRJ 5 14.81 12 1] 55|44 ZEH 212 JAC 5 14.47
2| 3M1|Elly B% EACa2Z=F7 b 15.00 2| 436|9% BX * K 5 14.57
3| 422/ Fi&E * K 5 15.97 3| 340/ Ep R £ EXEVST 5 16.62
4] 363[FE WA FAU—hrFy k b 16.10 4] 376[#2FE Fih |[BHANE 5 17.53
5 33 NE UM E=KSC b 16.563 5| 477N S+t BEEAC 5 18.03
6 83[HER ZE1th L H 5 17.86 6] 123|1l1F #BX JLA RpEE 5 19.16
475 | FER HiEAC 5 DNS 7] 565|4 K fEABR |HRJC 5 20.82
b27|FE & HIRJC 5 DNS 197|X8 kXK HEEAC 5 DNS
13| 1] 142[¢hH ZFE B X 5 14.74 14 1] 19(f EB¥ UM EKSC b 14.22
2| 273[BmA HE HRJ 5 14.80 2| 522|BX RE HixJC 5 14.60
3 T74EL FELLH 5 15.17 3] 360[== =#t FAY—bFkv bk b 16.73
4] 490(¢FHx ™R DeD7RY—F257 b 15.27 4] 260|FE+ BRIE KSR 5 16.35
5| 245\ RE 10015 &5~ b 15.70 5| 473l &+ HiEAC 5 16.44
6 8|7RH A JALF7—bk b 16.06 6] 81lit4a thHE [EaTi] s 5 17.87
7] 4430 E2EF * K 5 17.30 29| AF & HRJ 5 DNS
300 3R HR—B [OXREAC 5 DNS
165 1] 118|HE EB#k HEBEHFRC 5 14.71 16 1] 269[:F8h XX HRJ 5 16.66
2 b3|&F & 722 JAC 5 15.15 2| 387 |WH ES JXEAC 5 16.75
3| 374|%H #E BHRE 5 15.32 3| 480|854t  FfE HiEAC 5 16.95
4] 326|tEM HBE EBXYa=F7 b 16.59 4] 140/t =3l g X 5 1717
5 163]JIlE  Ki¥E JACREHE 5 17.76 5| b8 BE RI2HJAC 5 17.91
b34[@E)Il B HIRJC 5 DNS 439| KZE @ *x K 5 DNS
434 \IF B& *_K 5 DNS 201|8H % EREAC 5 DNS
170 1] 456|3% Kb WHYa2=Z7 b 13.80 18] 1| 153|AE K& = B 16.21
2| 357|#a—y F#evr|FRU—bEXvE b 14.34
3| 276|EA M3l HRJ 5 15.70
4 RIS DN B 5 16.75
5| 258/NEFFE  MEER | DLPREE 5 16.90
6| 493[HF FE:K D&DFRAU—+H57 § 17.71
7] 154|E% BT = HM% 5 18.17
Ig [ /= | K B B4 2 Bk
1] 456 [F=ZF Kib WHYa2=Z7 b 13.87
2| 56 [l X#E 722 JAC 5 13.99
3| 19 [ B UM EKSC b 14.37
R 41437 |8 EW [®k K 5 14.42
Bs | 5| 357 |[#a—vU #AcvF |[FRAU—FxvEk b 14.43
6| 158 [MAKR #X JACRmE 5 14.84
7] 436 (0% BA *x K 5 14.85
71 55 | R 7 IZhHJAC 5 14.88
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2EFE F F4EEHS LRESULT
5% LZF 100m
P
EIREES= K £ PB4 = otk | M| E|ES 5 g2 PE% £ A8k |
1 1 213k =H JE/MSC(R) b 13.66 2 1 =% YJXL7—hF 5 15.62
21 279|H4 ®HxEE |BEFE— 5|m&|16.08 AEENIEE BMARE 5 15.80
2| 337|H:AK EX BEBAXYa=7 b5|mA%|16.08 3| 49[%¥H Us Ubh=KSC b 15.82
41 126|ME =i HERHFRC 5 16.45 4] 1657|#E BT = B 5 16.28
5 703 H# 2124 JAC 5 16.99 5| 459[&F)Il m& AHEAC 5 16.41
6 29|HH &8 EER 5 18.08 6] 301|=EA  FE 10015v&5> 5 16.66
505|7"FE FBHEiE [HIRJIC 5 DNS 7] 250(fmF  Eil ERAC 5 18.07
419|&HF HEY &K 5 DNS 8] 99| R EI= FALLH 5 18.25
3| 1 6/ AAR FK |HIZHIAC 5 14.34 4] 1] 373|Z% H%E FAY—brxy bk b 1453
2| 117[KB &3 RS ARy =X b 15.64 2] 45|IUAR  EW UL =KSC 5 15.38
3| 318|KE KK HRJ 5 16.32 3| 520(&@m & BE (RB) 5 15.42
4] 481|£R =¥ F = 5 17.01 4] 139/t BME [ X 5 15.84
5 26/ME O KLY |EEER 5 17.34 5] 95|FHFAX TFE mEILH 5 16.18
6] 268[Hm3# &HE JtEKAC 5 18.35 6| 449[8 EIF FAkbE E 5 17.16
7] 198]JIlE 1EZE fUEESST 5 19.67 71 229[F)Il _unY [RKZFESRC 5 17.41
300 [fEEE IRTE JXEAC 5 DNS 8] 283[dJIl = e 5 17.46
bl 1 23|MAF & IR 5 15.99 6] 1 KVETIRCES Ubh=KSC b 15.09
2| 105|XE Foh [mEUA 5 16.70 2] 4208 Hx *x K 5 15.68
3| 314|RE HRJ 5 17.11 3| 363[IlUAx  EXR 5*5’777 5 15.59
4] 478\ = F = 5 17.30 4] 136K T /N&E E X 5 16.18
5] 191]3t% O# fUEESST 5 17.63 5] 71|#HA BEE |A&IZHJIAC 5 16.36
6] 383[= F= BWHARE 5 17.65 6| 280|dhE {EE R 5 17.71
7 48|HER  HE UOoh=KSC b 17.74 7] 506[JIl0 EHz= |HRJIC 5 18.39
8] 265|ILK 2E JbFKAC 5 18.37 26|/ =H R KESRC 5 DNS
70 1 50[&% Hhrt [Ubh=KSC 5 16.61 8| 1 68|HF HIB R JAC 5 16.43
2| 470|/H T FHiEAC 5 16.64 2| 409[kH EM * K 5 17.17
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